RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving Grant Agreement No. 04-10-NA-649d with the United States Department of the Interior-National Park Service that Provides Funding for the Tohono O'odham Nation's Tribal Historic Preservation Office and the Creation of a Cultural Affairs Tribal Historic Preservation Office Account and Budget for FY 2010-2011)

RESOLUTION NO. 10-396

1	WHEREAS,	the Tohono O'odham Nation recognizes the need to protect, preserve and manage
2		cultural resources on its lands; and
3	WHEREAS,	the Tohono O'odham Legislative Council established the Cultural Affairs Program in
4		1997; and
5	WHEREAS,	the Tohono O'odham Legislative Council passed Resolution 08-249, "Approving
6		Application for the Tohono O'odham Nation (TON) to establish a Tribal Historic
7		Preservation Office (THPO) as part of the TON's Cultural Affairs Program" to provide
8		Section 106 Compliance under National Historic Preservation Act of 1966 (NHP)(16
9		U.S.C. 470) for the protection and preservation of archaeological resources historically
10		associated with traditional or sacred values and beliefs important to the O'odham,
11		and of the physical site, location or context in which archaeological resources are
12		found; and
13	WHEREAS,	the Chairman of the Tohono O'odham Nation signed a Memorandum of Agreement
14		with the United States National Park Service on August 7, 2009 for the Assumption by
15		the TON of certain responsibilities pursuant to the NHP (16 U.S.C. 470); and
16	WHEREAS,	the TON received notification from the United States National Park Service on
17		September 4, 2009, that the TON THPO Office application was approved; and
18	WHEREAS,	the TON received notification from the United States National Park Service on March
19		9, 2010 that the budget for the TON THPO Office was approved at a level of \$95,024.00
20		for FY 2010-2011 (see attached budget sheet).
21	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby
22		approve Grant Agreement No. 04-10-NA-649d, in substantially the form attached
23		here to, with the United States National Park Service, Washington, D.C. and authorizes: A the Control of the Con
24		1. The Chairman of the Tohono O'odham Nation to sign Grant Agreement No. 04-10-
25		NA-649d with the National Park Service and any other associated documents.
26		${\bf 2.} The establish ment of a Tribal Historic Preservation Of fice account for the Cultural Cu$
27		Affairs program.

National Parl Preservation	NO. <u>10-396</u> rant Agreement No. 04-10-NA-649d with the United States Department of the Interior- c Service that Provides Funding for the Tohono O'odham Nation's Tribal Historic Office and the Creation of a Cultural Affairs Tribal Historic Preservation Office Account r FY 2010-2011)					
3.	The Cultural Affairs Program to expend funds in this Tribal Historic Preservation					
	Account for operational purposes consistent with approved budgets.					
4.	A carryover of funds provided by the National Park Service for the Tohono					
	O'odham Tribal Historic Preservation Office for each succeeding fiscal year.					
BE IT FINALL	Y RESOLVED by the Tohono O'odham Legislative Council hereby authorizes the					
C	hairman and any designated official to expend and administer the budget as					
at	ttached, provided however that any amendments affecting the funds or funding					
le	wels shall be submitted for further prior approval by the Tohono O'odham legislative					
C	ouncil.					
The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 29 TH Day of SEPTEMBER, 2010 at a meeting at which a quorum was present with a vote of 2,271.85 FOR; 93.55 AGAINST; 230.10[03] NOT VOTING; and [04] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (f) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL						
	Verion M. Jose, Legislative Chairman					
	7 day of October, 2010					
ATTEST:	A a .					
Charell	lle de la company de la compan					
ll-	on, Legislative Secretary					
day of	October , 2010.					
Nation on the	on was submitted for approval to the office of the Chairman of the Tohono O'odham le					

Preservation Office and the Cr and Budget for FY 2010-2011) Page 3 of 3	rovides Funding for the Tohono O'odham Nation's Tribal eation of a Cultural Affairs Tribal Historic Preservation Office					
	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
	Verlon M. Jose, Legislative Chairman					
	, , , , , , , , , , , , , , , , , , ,					
(X) APPROVED	on the <u>day of</u> <u>Office</u> , 2010					
•	V(10)					
[] DISAPPROVED	ato'clock,M.					
	\mathcal{M}_{\bullet}					
	NED NOBRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION					
	2010 110					
	11					
	ecretary on the day of					
<u>October</u> , 2010, at <u>4:00</u> o'clock, <u>P</u> .M.						
Wantellale						
Evonne Wilson, Legislative So	ecretary					

ACTION: APPROVING GRANT AGREEMENT NO. 04-10-NA-649D WITH THE UNITED STATES DEPARTMENT OF THE INTERIOR-NATIONAL PARK SERVICE THAT PROVIDES FUNDING FOR THE TOHONO O'ODHAM NATION'S TRIBAL HISTORIC PRESERVATION OFFICE AND THE CREATION OF A CULTURAL AFFAIRS TRIBAL

HISTORIC PRESERVATION OFFICE ACCOUNT AND BUDGET FOR FY 2010-2011

MOVED: COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILWOMAN EVELYN JUAN MANUEL

DATE: SEPTEMBER 29, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose)	99.35	Х		х	
170.7	2. MARY LOPEZ ()	99.35	X			
SELLS	1. KIMBERLY LISTO	224.80	X			
449.6	2. EVELYN B. JUAN MANUEL	224.80	X			
SCHUK TOAK	1. FRANCES B. CONDE (Absent)	79.50	х			
159.0	(Fredrick Jose) (Present) 2. LINDA PARLEY (Agnes Joaquin)	79.50	X			X
SAN XAVIER	1. FELICIA NUÑEZ	102.35	X			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35	X		Х	
SAN LUCY	1. LORRAINE EILER	93.55	X			
187.1	2. GLORIA RAMIREZ	93.55		X		
PISINEMO	1. CHESTER ANTONE	92.25	x			
184.5	(Tony Murrietta) 2. EDWARD MANUEL (Gerald Fayuant)	92.25	X			
HICKIWAN	1. MICHELLE ORTEGA	87.25	X			x
174.5	2. SANDRA ORTEGA	87.25	Х			
GU VO	1. GRACE MANUEL	103.15	х			
206.3	2. PAMELA ANGHILL (Absent) (Angela Ortiz) (Present)	103.15	X			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05			X	
230.1	2. CYNTHIA E. MANUEL	115.05			X	Х
CHUKUT KUK	1. ETHEL GARCIA	138.50	Х			
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ()	138.50	X			х
BABOQUIVARI	FRANCES MIGUEL (Roberta Harvey)	162.0	х			
324.0	2. FRANCES G. ANTONE (Vernon Smith)	162.0	X			
TOTAL		2,595.50	2,271.85	93.55	230.10 [03]	[04]